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6. Given ABCD ~ AGFE, ﬁnd GB.
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' 7. The rauo of a.side length of rectangle A toa correspondmg side length of oo
R rectangleB is 12: 5. Rectangle A has a31de,]ength of 60 mchcs Fmd the T
S con:espondmg szde length of rectangle B. : AR

.a-»fXa }ft;;: g~..,

-8, The ratio of a side -length of triangle A to a corréspondmg side lengfh of . o
triangle B is 5 : 8. Triangle A has a side length of 18 centimeters Findthe .
‘ correspondmg side length of tnangle B,

9, A farmer who is 72 inches tall is standing beside a silo that
has a height of 140 feet, The length of the silo’s shadow is
31.5 feet, What is the length of the farmer’s shadow? =
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" 1401t
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